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Tiesiniy diferencialiniy lygciy sistemos pastoviaisiais koefi-
cientais
Uzdavinys 1.
Y1 = 2y1 + v,
Yo = 3y1 + 4y
Atsakymas:
y1 = Cre” 4 Caed?,
yo = —Che® + 30265w.

Uzdavinys 2.
Y1 = 5y1 + 2y,
{y’z = —dy1 — 1.
Atsakymas:
y1 = Cre® + Cye3®,
{y2 = —2C;e* — Cye3”.

Uzdavinys 3.

Y1 = Y1 + Y2,
Yy = 3y2 — 2y1.

Atsakymas:

y1 = €%* (Cy cosw + Cosinz),
Yz = e ((01 + 02) cosx + (02 — Cl) sin:z:) .

Uzdavinys 4.
Y1 = 3y1 + 2y,
Yo = —y1 + Yo.



Atsakymas:
{y1 =2 ((C} — Cy) cosz — (Cy + Cy) sinx)

Yo = —e?* (Cycosx — Cysinw).

Uzdavinys 5.
Y1 = Y1 — Y2 + U3,
Yo = Y1+ Y2 — s,
Y5 = 2y1 — Y.
Atsakymas:
y1 = Cre® 4 C2e® + Cze™?,
y2 = Cre” — 3C3e77,
y3 = C1e® 4+ Ce*® — 5C3e™ 7.

Uzdavinys 6.
YL =y — 2y2 — Y3,
Yy = Y2 — Y1 + s,
Ys =y1— Ys.
Atsakymas:
y1 = C1 + 3C2e*,
ys = —2C%e%* — Cye™ 7,
Ys = Ci + 0262‘70 — 20367‘70.

Uzdavinys 7.
YL =Y — Y2 — Y3,
Yo = Y1 + Y2,
Y5 = 3y1 + ys.
Atsakymas:

y1 = e” (205 sin 2x + 2C5 cos 2x) ,
y2 = e* (Cy — Cyco82x + C38in2x)
ys = e (—Ol — 3C5 cos 2z + 3C3 sin 21‘) .

Uzdavinys 8.
Y1 = 2y1 + Y2,
Ys = Y1 + 3Y2 — ¥a,
Y3 = 2y2 + 3ys — y1-
Atsakymas:
y1 = C1e%* + e3* (Cycosx + Cysinz),

Yo = €% ((Cy + C3) cosx + (C3 — Cy) sinx) ,
ys = C1€%* + €32 ((2Cy — C3) cosz + (2C5 + Cy) sinz) .



